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Which one of the following states has
the highest percentage of scheduled
caste population 7

(A) Bihar

(B) Uttar Pradesh

(C) Himachal Pradesh
(D) Punjab

Which one of the following rivers has
the largest river basin in India ?

(A) The Indus
(B) The Ganga

(C) The Brahmaputra

" (D) The Krishna

Who has the right of judicial review ?
(A) President

(B) High Court |

(C) Supreme Court

(D) Both (B) & (C)

Which one of the following is not a
tropical cyclone ?

(A) Hurricane

(B) Roaring Forties
(C) Typhoon

(D) Willy-Willies
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6. The power to Increase the number of
Judges In the Supreme Court of India is
vested in :

(A) The President of India
(B) The Parliament
(C) The Chief Justice of India

(D) The Law Commission

6. In which of the following years the

Muslim League accepte:d the resolution
of a separate nation (Pakistan

Resolution) ?
(A) 1947 (B) 1906

(C) 1931 (D) 1940

7. Under which article of Indian
constitution is the right to freedom of
speech and expression guaranteed ?

(A) Article - 19
(B) Article — 2i
(C) Article —29
(D) Article - 51
8. Who invented Mobile Phone ?
-(A) Raymond Samuel Tomlinson
(B) Martin Cooper
(C) Tim Berners Lee

(D) Steve Jobs
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9. The Chalrman of NEP - 2020 is :

(A) K. Kasturirangan

(B) C. Rangrajan

(C) M. Jagadesh Kumar

(D) Shri Dharmendra Pradhan

10. Which of the followinc 1s rct a feature
of Government of |dia Act — 1935 ?

(A) Dyarchy atthe centre
(B) All indi~ i~deration
(3) Provincial autonomy
\J) Dyarchy in the provinces
11. Who was the propounder of Bhoodan
Movement ? .
(A) Vinoba Bhave
(B) Mahatma Gandhi
(C) Jyotiba Phule

(D) Dr. Rajendra Prasad

12. Under which Article the Constitution
gives the power- to amend the
constitution and its provisions to the
Parliament ?

" (A) Article 356
(B) Article 123
(C) Article 368

(D) Article 358
P.T.O.
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Which one of the following pairs is no

correctly matched 7

— Warren Hastingg

(A) Pits India

Act

(B) Doctrine of - Lord Dalhousie

Lapse

(C) Vermaculai - Curzon
Press Act

(D) ilbertBil - Ripon

Who got the prestigious film Industry
award 'Dadasaheb Phalke' for the year
2024 ? '

(A) Rekha:

(B) Rajnikant

(C) Shah Rukh Khan
(D) -Mithun Chakraborty

In which of the following country,
BRICS Summit — 2024 held ?

(A) Russia (B) Brazil

(C) China (D) India
Which of the following states of
Rajputana did not accept the

sovereignty of Akbar ?
(A) Amer (B) Mewar

(C) Marwad (D) Bikaner
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Which Is the second highest mountain
paak of Uttarakhand 7

(A) Nanda Devi

(B) Kamet

(C) Panchachuli

(D) Kanchenjunga

One Gigabyte (1 GB) datc is equal to :
(A) 1024 Kilopy'ie

(B) 1000 Bytes

(C) 1024 Megabyte

(D) 1000 Terabyte

Which crop among the following has

maximum area of
Uttarakhand ?

cultivation in

(A) Rice
(B) Sugarcane
(C) Wheat

(D) Mandua (Finger Millet)

Who is declared to be awarded Nobel
Peace Prize 2024 ?

(A) International . Atomic  Energy
Agency

ﬁ (B) Narges Mohammadi

(C) Ales Bialiatski

(D) Anti  Nuclear
Hidankyo

Group

P.T.O.
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In which of the following districts of
Uttarakhand  did Malpa landslide
disaster take place 7

(A) Chamoli

(B) Champawat
(C) Rudraprayag
(D) Pithoragarhi

Who shifted the capital of Mughal
Frmpire from Agra to Delhi ?

(A) Jahangir
(B) Aurangzeb
(C) Humayun

(D) Shahjahan

The Iargiest ethnic community in the
state Manipur is :

(A) Kuki

(B) Naga

(C) Metei

(D) None of these

Which bank is limited to agricultural and
rural finance needs ?

(A) IFC (B) RBI
(C) NABARD (D) SBI
No-confidence Motion, to be admitted

in the Lok Sabha, needs the support
of how many MPs ?

(A) 273 (B) 100
(C) 160 (D) 50
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26. Which of the following rulers had a

powerlful navy 7
(A) Chola
(B) Pandya
(C) Cher
(D) Pallava
27. Who bui't 'Sénchi Stupa' ?
(A) Chandragupta
(B) Gautar‘n BIL-jddha
(C) Adishankaracharya

(D) Ashoka

28. Theideal of.;We!fare State' in the Indian
Constitution is enshrined in its :

(A) Preamble
(B) Directive Principles of State Policy
(C) Fundamental Rights

(D) Seventh Schedule

29. Most stable ecststem is :
(A) Moﬁntain
(B) Desert
(C) Forest
(D) .Ocean

?vi ::-l

P.T.O.
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30. 1n. India the National Income s
calculated by which of the following
égencies?

(A) NITI Aayog
(B) Reserve Bank of India
(©) Indian Statistical Institute

(D) Central Statistical Organization

31. General public access to the internet in
India began on :

(A) 10 August, 1986
(B) 15 August, 1995
(C) 15 August, 1996

(D) 10 Januarv _000

32. Increasin; ' .ncer and high
muteion (te rethe re it of @
1l Acic n

(B) . hon dioxide Pollution
0y Global Warming

(D) Ozone Layer Depletion

33. The first woman president of the Indian
National Congress was :

(A) Sarojini Naidu
(B) Bhikaji Cama
(C) Annie Besant

(D) Indira Gandhi
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[A]

Which one of the following is the leading
producer of spices in the world ?

(A) Brazil
(B) India
(C) Malaysia
(D) Indonesia

On which day is 'World AIDS Day
celebrated ?

(A) 10 December
(B) 1 December
(C) 1 March

(D) 10 March

At present, which sector contributes

~ the most to the GDP of Uttarakhand ?

(A) Primary Sector
(B) Secondary Sector
(C) Tertiary Sector

(D) None of these

Which one of the following biosphere
reserves was established first in India ?

(A) Guif of Mannar
(B) Nanda Devi
(C) Nilgiri
(D) Sundarban
P.T.O.
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The state which produces maximup,
teain India is :

(A) West Bengal
(B) Kerala
(C) Assam
(D) Unarakhant_'l

'Rupay’ has been issued by :
(A) SBI
(B) PNB

(C) National Payments Corporation of
India Ltd.

(D) National Securities Depository Ltd.
Which part: of the body is affected by
Typhoid ?

(B) Stomach

(D) Brain

(A) Pancreas

(C) Intestine

The reason for the curdling of milk is
{A) lMycobacterium

(E) Yeast

(C) Lactobacillus

(D) Pseudomonas

Which of the following is considered

the largest and organized industry of
India ?

.(A) Sugar Industry

(B) Cotton Textile Industry
(C) Cement Industry
(D) Paper Indust'ry
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45.

46.
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43, Where is the headquarter of SIDCUL

(State Industrial Development
Corporation of Uttarakhand Limited)
situated ?

(A) Dehradun
(B) Haridwar
(C) Pantnagar

(D) Kotdwar

44. Which aspect has been highlighted in

Kautilya's 'Arthashastra’ ?
(A) Economic Life

(B) Political Policies

(C) Religious Life

(D) Social Life

45. Which of the following pair is not

correctly matched ?
(A) Amijad Ali Khan - Sarod
(B) Pandit Ravi Shankar . - Sitar
(C) M. S. Subbulakshmi - Veena

(D) Allah Rakha - Tabla

46. Turpentine oil is obtained from :
(A) Netum
(B) Cycas
(C) Cedar

(D) Pine
P.T.O.
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a7. Fefifed & & @, 3% AW B 47. Which one of the following is not the .
T & da 78 8 7 couce of revenue Of Centg MW (¥ WOHT 51 G 52 % Re) : & ™ | Direction (For Q. Nos. 51 & 52) : Which one
Government ? TR Se-ongidt # 8 I T A, 2 of the given four answer-figures can be formed
i STERT i e A iecee i ion fi
(A) (A) Income Tax i R m gﬁﬁ from the piece= -en in question figure ?
(B) wiRe tve (B) Corporate Tax . 51, T SR E Qi’fj’“"' lgure -
Q= (C) Agriculture Incomé Tax AVD | \V D
(D) T T . 2K 2 <
(D) Excise Duty A } A
. Preffed 3 8 B8 a@ @5 & | 48 which of the following instrument s swarf: AT Frauing
Gﬂ% ?U@“E T T @ IF 9T R mr declared as state musical instrument of r ZVL_T ’
' Uttarakhand ? l J| j ii} % %Z @ {il) %
(4) 3w U N
M (A) Dhol ;
5 A) (B) (€ (D) (A) (B) () (D)
(B8) Frgd : (B) Flute .
(C) g5 ) (C) Hudw: 52. ¥ ST : 52. Question Figure :
ad | X4

(D) w¥EAEH J) Musi =kl =en .

9. TE W wE s gE d gEr o 49. The most cLundantly found metal
qwell &1y T g elerionton earth is : T G?Fﬁﬁlﬁ : Answer Figures :
(A) dirE (A) Iron \ '
(B) #fewaw : (B) Calcium g@ @\ }E@
(©) T (C) Aluminium w ® © O w ® © O
5 .
1) e (D) Copper 53. e ol Hied & auWi # A 100 53. The sum of the weight of Anil and
' frm 1 R it & o <@ & 3 Ran Mohan is 100 Kg. If the weight of Anil is
50. GNES STV geAa: gefad P 2 50. Fluoride pollution mainly affects : 2 9] AeT | 4 fem o B, @ 3 kg. less than Ravi, but 4kg. mare
(A) @ ' Y o R R B 7 than Mohan, then how many kilograms
. | (A) Teeth : : . does Ravi's weight ?
il (B) Heart (A) 48 fFT (A) 48kg
© g (C) Kidney (B) 50 () SYg
(D) #fic=s . (c) 52 e (C) 52kg
— {D} Brain I (D) ssm * . (D) 55kg
[14]* DU24 ; [15] B 1P
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54. Freifoias s il amds wq F 54. Which word will be in the middle, whe, &7 ALy COC B e 57. Which of the two signs in the equation
T R 77 § F-9 = 2y ? following words are arranged in logicy omqe A ot q,-{? far = & given below can be interchanged to
. saquence ? e icaa s K B I make a h~'iiced equation ?
7+3x2-22=1 +7+3x 0 =22=1
ST, =, LT, A, T Chapter, Word, Paragraph, Sentence, I e
¥R oE ’ Letter (A) x - | ) d-
(A) STB8T G (A) Paragraph  (B) Sentence (B) + oM~ ' 6 B
(C) o= (D) sy (C) Word (D) Chapter (©) + 9T | (G e x
: g ) (D) + g (D) +and +
ﬁ?“ (W HEAT 55 W 56 % fw) : A & Direction (For Q. Nos. 55 & 56) : Select the
wﬁ’i@?;& g:a & A (7) # I missing figure (?) of given series from the  r.. ‘WON_eRb L' 9 & S @I avfAren 58. If the word 'WONDERFUL' is written in
Glif‘md' gﬁm : answer figures : T ®Fia T By am WO ored alphabetical order, then how many
¥ W urEE @ ? letters will not change their place ?
55. N Sl : ion £
55. Question ' ‘gures - (A) T (A) One
' ’ ! I——rF - [ —
N - L Y
! |Ee [|F 1 \ ©d (C) Three -
EEEY T :
gl ‘ Ans.. 7 Fintg: (D) 37§ FE 7 (D) None of these
|
S e FE -7
. g | el | _, ,% AN P+Q@ I B P, Q@ 9 B P + Q means — P is the brother of Q
(A) @) (, (D) (A) (B) € (D) PxQ®& i P, Q| & P x Q means — P is the mother of Q
) ' | . Péoﬂagt%_,plaqqqsq% P + Q means — P is the sister of Q
56. W¥T ST : 56. Question Figures : ;
' P-Q% o > P, Q% R 2 P - Qmeans — P is the father of Q
? X X 9 ® k i frafiag # § f9-T e %@ Then, which of the following equations
* 9 . Zufar & B ‘A, C &7 = 27 represents that 'A is the uncle of C' ?
o Glﬁﬁﬁﬁ : . Answer Figures : | A A=B+C ) A=BrC
) - . @rA+B-C (B) A+B-C
' X X X Py X X X (C) A+BxC (C) A+B=C i
( Aind
- 7 . (D) A+B=+C
@ @B © o W ® © o 1) P hixe -
pU24 [16] DU24 (7] T
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T Sy :

i

Wﬂﬁﬁlﬁ:

(A) (B) ©)

©)

61. w3l # w o A a1 A {159
WA W oAy R 18d W W
B AR A S 9w 4 e, @
gt B dfm § FE--e R
e & 7

(A) 36
(B) 27
(C) 35
(D) 26

62. I FRl widhe w1 & '‘GARDEN' @

#T HVS' @, @ o widke W
'BRIGHT &1 $i5 7471 8 ?

(A) TOB
(B) TPB
(C) SPB

(D) TPA

[18]
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60. Which of the answer figures given,
below contains the question figure ?

Question Figure :

i

Answer Figures :

Vi
1

(D)

w ®

61. In a queue of girls, the nosiuon of Reeta
from leftis 15th 2.:1d the posiion of Madhy
is 18th :'r-,;m nght.-If there are 4 girs in
between Ihese
minirum number of oirls in the queue ?

two gils, then find the

(A) 36
B) 27
() 35
(D) 26°

62. If 'GARDEN' is coded as 'HVS', then
what would the 'BRIGHT' coded as ?

"(A) TOB
w1 (B) TPB
(C) sPB

(D) TPA

3

63. F o qd A A Raft § H ¥ om
e 3 4 @, @ FW PA-A@ we

2 &

(A) 6
(B) 1
(€ 4
(D3
-fidq (799 e 64 09 65 B fr) « TR ()

e (i) s A9y old § bt §1 R e
39 o ol g S (i) o (v) @
d9 §uM g4Y w@Na #Y, SRy (iv) ¥
ge RE (2) &1 = W
cs. (8 wm» »|F [E 9
« pl¢ wi 4 °
M @ ) (v
Bl E!‘IB Bj® 99 rd
o oY of) Gl a
A (B (€ (O
= Y[R 9
o=k
(i) (ii) (i) (iv)
N S
1| A
(A) (B) C) (D)

DuU24
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[A]

63. Given below are the two positions of a
dice. If 3 is the bottom surface, then
what wi'l be on the top surface ?

() 6
(B) 1
(C) 4
(D) 2

Direction (For Q. Nos. 64 & 65) : Figures (i)
and (i) are related in a particular manner.
Establish the same relationship between figures
(iii) and (iv) by choosing a figure from amongst
the given altematives, which would replace the
question mark (?) in fig. (iv).

6a. € wim O] [@

« »l¢ |5 3
i) (ii) (i) (iv)

Bl B B 99 rd
= a‘m ET.I'EJ BE a

?

(A) (B) (C) (D)

= 0| 2

IR

(i) (i) (iii) (iv)
M%??
ol 22 | ]

(A) (B) (€) (V)
P.T.O.



66. R woR ‘Yo & wEy G @ B,
I T ‘T’ B ady Brad ® P

(A) o7 (B) Al
(C) Fgf (D) wam

Fw (77 W 67 @ 68 & R) : &
. angfEt # § I & By 63§ gum
& o @ fr &1 R/ sty @ g
Fiforg :

REIEIEIE

@w ® © (0

& A P
1 L |
(A) (B) (C )
69. ;Eﬁm%m o #, %% qw 4 R
() 123 o & — Itis Black
() 3453 arf & - Dog is running
() 356 1 af & — Is running good
(IV) 7283 31 & — Black pet Gow
(V) 637 % 318 & - Cow is good
‘Black cow is running' & H&d IFT W4T

68.

§ am grm ? .
(A) 5342 (B) 2735
(C) 6321 (DJf 7435

«J24
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66. As the ‘Study'is related to ‘Knowledge,

similarly 'Work' is related to :

(B) Service

P (v @@ 70 § 72 3 Rg) : @ wh
ni@maﬂﬁnﬁﬁﬁﬂ{?}%mﬁw
o 7 et e & a9 i

(A) Experience
(C) Appointment (D) Experiment

Direction (For Q. Nos. 67 & 68) : In giye, 20, X2ZY, UWV, RTS, 2, LIM

four figures, three are similar in a certaj,

i i A) NPO
manner but one is different. Select the @
different/odd figure : ™ QPO

NP
67. e
N | ([N ]
N |2 'S | 2 (o) PRQ
| 1

) ) o)
@ ! D 7. aZ, Yb, cX, Wd, ?

8. [T = (A) Ve
]'@ l % l % E (B) vE
(A) (B) € . (O
(€) Ev
69. In a cerain code, some facts are given
below : (D) eV

() 123 means — It is Black

() 345 means — Dog is running 72. 16,24,7,54,81
(lll) 356 means — Is running good
(A) 32
(IV) 728 means — Black pet Cow
(V) 637 means — Cow is good (B) 36
Then what is the code for 'Black cow is
running' ? (C) 40
(A) 5342 (B) 2735
(D) 45
(C) 6321 (D) 7435

LA g4
W

bu24

e &]

Direction (For Q. Nos. 70 to 72) : What will
come in place of question mark (?) in the

follov rig series * Choose the correct option :

ii 70. XZY,UWV,RiS,? LNM
(A) NPO
(B) QPO
(C) OQP
(D) PRQ
h71. aZ, Yb, cX, Wd, 7

(A) Ve

(B) VE
(C) Ev
(D) eV
72, 16,24, 7, 54, 81
(A) 82
(B) 36

() 40

(D) 45

G

P.T.O.



(A) 8
(B) 10
(C) 12

(D) 14

Fa (v e 74 @@ 75 3 Rig) - 0w 4
mﬁw&)%@éﬁmﬁ@%ﬁﬁm
Rt e & Fever @ of 50 01 @ @

# AR TR o

74. T3 F W O T T o

F e FaE

(A) 60 (B) 42

(C) 28 (D) 56
PA-8-F0 & T T T Ay o
H@Tﬁ‘ﬁ?sﬂ

I(A) 32 (B) 12

1C) 8 (D) 28

d.'.w'[ 22]

400105 pai

74. Find the number of cubes whose at 78

73.

(B) 10

Direction (F-; Q. No-. 74 75)
‘ed L

B b o4t 5

e

In the figure given below, many Cubg,

have been arranged. How many CUbg, 76.

cannot be seen by us ?

LI

(A) 8°

i

(©) 12
(D) 14

A cube of

on all tar-: and cut into a

{ cubical blocks of 1 cm each.

least one side is painted :

(A) 60

(C) 28

(B) 42

(D) 56

75. Find the number of cubes whose at ’

least two sides are painted :

(A) 32

(C) 8

(B} 12
(D) 28

Du24

4 T 40 B @ wd A A gl
3 4 R 39 @ o g ?

(A) 120°
(B) 100°
(C) 90°
(D) 130

afr P TR 5 dm d@ER @17
A B, & Tl B ogm owm # @
3 -1 B & o e a9 emom 7

" (A) WTET

(B) FewafER
(C) FFIX
(p) AT

fer & & F9-81 S omgl, we
T & FE & Q@ BN ?

T SR :
e
A

e

w ® © O

LA R A

76.

78.

[23]

[A]

What angle will be made between both
the hands of a watch at 4 o'clock 40

minutes ©
1) 120
(B) 100°
(C) 90°
(D) 130°
If 17th of a month is the third Monday,

then find out the day which comes five

times in the same month 7
(A) Tuesday

(B) Thursday

(C) Friday

(D) Saturday

Which of the following answer figure
will. complete the pattern in the question
figure ?

Question Figure :

=X\

?

Answer Figures :

EYEdEAd

(A (B © O
P.T.O.
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nind

79. RY m ¥ ¥ fm-d g gyEEE
R (7) # e 2

79. Which number will replace the qy -
mark (7) in given pattern ?

(A) 48 (A) 48
(B) 40 (B) 40
(9) 30 (€) 30
(D) 24 (D) 24

Fw (ow7 s 80 @ 83 @ R) : M2 &
ARG @ AEE SE F B g
%Wﬂf?ﬂ:

(i) GRT%A.B,C,D.EGﬁTi‘:E’IdﬁTT{QW
a-ame 3 ¥ AW s g § A
TR B

Direction (For ©. Nos. 80 to B3) : Read the
Information niven opelow carefully and then
aaswar the following questions :

(i} 6 poople A, B, C, D, E and F are sitting
across a table in two rows i.e. 3 people in
each row.

(i) E Rl o ofr & o & 7 &

(i) D,F % ¢ & g@e &AW

(iv) C, it € % wgrelt &, D & Raofam ¥ar &
(v) B,F % il &

(i) Eis not at the end of any row.
{lii) Dis2ndtothe leftof F.

(v) C, who Is neighbour of E is sitting
diagonally opposite to D. ’

(v) B is the neighbour of F.
80. B g P e} ?
(A) C
(C) E

80. Who is sitting infront of B 2
(A) C
(C) E

(8) D
D) A

(8 D
(D) A

in
Du24

[24]

i

=t

i

3

82.

83.

AT A Y7

(A) ASRE
B) EdRD
() c3kB
(D) ASRF
frataa &2 Al & el A

(A) F3RC
(B) DA
(C) AdIRC
(D) AdRF

2 D, E % WM W T A, T
WH W0 & ER #

(A) AJIRC
(8) FaB
(C) #aw B
(D) 3 A

. ofama 100 # o f A AR,

T8} 3 f6T 60 W I A S T
3 RRoaE 30 A @ @ ol A B
Tad 5 & S s @E A R
feam & ol feaeh g0 w3 ?

(A) 70 §1 G
(B) 70 i WA
(C) 50 Tt 2Rr-g&
(D) 50 H S-T

'v:atl

[A]

81. Which two people are sitting in the

82.

83.

[25] ﬁ

same row ?

(A) AandE

(B) Eand D

(C) CandE

(0) Aand F

Which two Iriends are sitting diagonally
opposite to each other ?
(A) FandC

(B) Dand A

(C) AandC

(D) Aand F

If D goes to E's place, then who are the
neighbours of D at new place ?

(A) AandC

(B) Fand B

(C) Only B

(D) Only A

Avinash goes 100 m towards South,
then he goes 60 m towards North and
then he goes 30 m towards East. Find

the direction and the distance of the
place from his starting point :

(A) 70 m East
(B) 70 m West
(C) 50 m South-East
(D) 50 m North-East
P.T.0.
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85. I\ W2 3R Ih & wew # aved

86.

87.

Du24

ERCEE R iR o
w&H q9 A 9 9 A AP @
T R & R R R

W & wew 70 @, @ T 5 9 @

we e g 7

(A) 10

(B) 12

(of 14

(D) 16

Freififea o o & @ R y B

Fridaeid, wgid o x 7@ ?

yf."fb’xlf.ifyx!'U’,_ixy_f‘yxyj)-n'x

(A) 4

(B) 5

(€) 6

D) 7

GERE TR

férer wen R & 9w wdde gdy @

guifar & 7 ;

CEEYES
(A) ® © @

[26]

L

0

85. A cerain number of hm_ses and’an equy

86.

87.

[©9f&ood]
(A) (B) © o

number of men are going sdmewhére_
Half of the owners are on their horse'g
back while the remaining ones grg
walking along leading their horses. If the
number of legs walking on the ground jg
70, how many horses are there ?

(A) 10

(B) 12

(C) 14

(D) 16.

How many-such y are there in the
following alphabet series which s

followed by j, but x should not be with j?

: g ’ e, Arebedld ar T
yixyiyxyiiyxiiyixyiyxyiyix | oy ) : o~

(A) 4
(B) 5
© 6
D) 7

Which one of the following Venn
diagrams  represents the  best
relationship among student, teacher
and school ?

\

faer (e Wom 88 / 90 I Riw) : Frfiem
Frt @ WA A i B R 9E AR

o AR A B I R

ar it a,b, cold & &,

[0} ambwmﬁﬁ@ﬁﬁl
@ bt fre I AR A ¥

(i) a¥ivd e IR e & &

(v) cdtd B Sl AT & &
88, e P 7e G & ?

(A) d

®) o

I(C) b

Py a

or

(B) ¢
(C) b

(D) a

90, b, cdRd At - A AT E ?

(A) Bl ot .
By &R

(c) B

(D) BEdd

DU24

Y1

[27]

[A]

Direction (For Q. Nos. 88 to 90) : Read the
following information carefully and answer the
questions that follow :

Qut of four friends a, b, cand d,

() aandb play Football and Cricket.

(i) bandc play Cricket and Hockey.

(i) aand d play Basketball and Football.
() candd play Hockey and Basketball.

88. Who does not play Hockey ?

89.

fdt

(A) d
(B c
(C) b
() a

Who plays Football, Basketball and
Hockey ?

(A) d
(B) ¢
(C) b
(D) a

. Which game do all b, ¢ and d play ?

(A) Basketball
(B) Hockey
(C) Cricket

(D) Football
P.T.O.



91

92,

93.

Du24’

(B) 1,2,3,4
(C) 3,4,1,2
(D) 2,4,1,3

e & ot % 38 A o1 T @ R
T o6 59 ¥ 4 TR 25 P @
T 91, 3§ G99 §& T S99 59
T s § 99 3 TEw o @@
W o ?

(A) 7 7o 30 fre
(BY'7 w35 Pre
(C) 7 T 15 B
(D) 6 Tt 35 fire

Frafefe o 3 Rt ar @ @9 |
e S A F Ry wer o & 7

112:3,4,5.67,9,4,8,4,55,4,8
(A) 1
(8) 2
(C) 3

/
(p) 4

o\ B

91, Which of the following ODEOHI,S gives
meaningful order of words 2/

Publfcgliun {
Editing. A P
Writing :
Printing _

(A) 3,2,4,1

(B) 1,2,3,4

(C) 3,4,1,2.

(0) 2.4;1,3

i S e R

92. Anil's watch had some error. So when
his clock showed 4 o'clock 25 minutes,
the right time was the mirror image of
his watch, What was the right time ?

(A) 7 o'clock 30 min.
(B) 7 o'clock 35 min.
(C) 7 o'clock 15 min.

(D) 6 o'clock 35 min.

93. How many times an even number is
followed by odd number in the series
given below ?

1,2,3,4,5,6,7,9,4,8,4,5,5,4,8
(A) 1
®) 2
©3

(D) 4

m(ﬁmsaﬁw%m:ﬁwﬁm
# & v e §, R T A R (a), (8),
© dr @ F q I () F T A
R @ 9 B T @ e Y

MN 2 el T B

N

(X)

RS
(A) (B) (C) (D)

[A]

Direction (For Q. Nos. 94 to 97) : In each of
the following questions, choose the correct
mirror image of figure (X) from amongst the
four alternatives (A), (B), (C) and (D) along
with it. The mirror is represented by line MN.

9. %\:’
(X)
S
(A) (8) (©) (D)

9. 4 95. g‘
3 N
-N (X) (X)
(A) (B) (C) (D) (A) (B) (C) D)
. 96. A S
96. S ]
D g 4 D 4
M e N Mnn:;rmrN
)
(X)
D 4
D-Q¢D9¢D€ﬂne4 De‘iDgﬂDeﬁ Qa
v sllv ellv 2v_2 y 8 2llv 2|y
(A) ® © O (A) (B) © ©
| it P.T.O
Du24 @ [29]
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SRS

9. P, Q, R @™ S X #rW WA §
i P Sd30 R & S -
TTE?

(A) B (B) I
(Of FaR (D) =R

9. vk v & 9 s=ay 3
FATER Faid &

1. Live

2. Litter,

3. Little.

4. Literacy

5. Living

(A) 4,2,3,1,5

(B) 3,2,4,5,1

(C) 4,3,5,2,1

(D) 3,4,2,1,5

100. P S & g P it & 2

AN
E;
I

(PJ 30 (D) 32

DU24

[30]

£ 0 a0

ﬂ
97, Mumurid N

X)

HHE

(A - (B € (D)

98, P, Q, R and S are four consecutjye
months in which P and S have 30 dayg,
Which monthis S 7

(A) April " (B) June
(C) September (D) November

99. Armrange the following words as pe;
order in the English dictionary :

-

Live
2. Litter

3. Little

4. Literacy
5. Living
(A) 4,2,3,1,5
(B) 3,2,4,5,1
(C) 4,8,5,2,1
) 3,4,2,1,5

100. How many squares are there in the
figure given below 2 .

(A) 28 (B) 29'

(D) 82

@ ..\\

L . =

\ 1
101. qf?:- 2=x+.-—-—1-— %, ﬁ X & "HA

{+=—7

1
\ 3+
B
(A) 1817
(B) 2117
(c) 1317
(D) 12117

' T RO L B ToL oo
102. [999?+999?+999?+999?+9.99?+999?]
A §
(A) 2997
(B) 5979
(C) 9994

Jo 5097

103. 7R 15x = 005y &, & L=X Hr 4w
y+x
M
(A) 29/31
(B) 3129 - - s
(C) 1/30 '
(D) 1/3

20§ LT
pdoil=lF

. A% %W 50% Ter R T R A ¥
50% @@ Rar mm g A @ R
sftvere ¥ B w g 7

() 25%
(B) 30%
(©) 20%

(D) B

Du24

oy o7

101.

102.

103.

- 104.

@teﬁl

(A]

If 2 =x+-—-1—1-—, then the value of x

1+—

1
3+E

will be :

(A) 18117
(B) 21117
(C) 1317
(D) 12117

2 3
The value of (999%+999;+999;+

gggi_,,gggi.,.gggi) will be :
il 7 7

(A) 2997
(B) 5979
(C) 9994
(D) 5997

y-x
_ ? g A
If 1.5x= 0.05%1. then the value o Vi

willbe: .
(A) 29/31
(B) 31/29
(C) 1/30
(D) 1/3

A's salary was decreased by 50%.and
sﬁbsequenlly increased by 50%. How
much percent salary does he lose in
total ?
(A) 25%
(B) 30%
(C) 20%
(D) Noloss

P.T.O.



&

AR Ap s roarsuner . 42

\ \

a quadrilaterg) ar Eq J-k '

oy
L
:

*ommms pesmmm— R TN A NSO WD U

[A]

r ang|95 of &
105, Qﬂia@w%m :7:6:4% | 105 F :16:4 The g “u\ *
a: Um ' °, i t
TR Fﬁﬂ S mhoteSt and the smallest angle j, "\ 109. !]KA. B % 150% 8 @ B, (A + B) # 109. |f A is 150% of B, then B is wha
AR : gred Ry S & 7 percent of (A + B) ?
180° \
(A) 180° (A () 531% (A) 331%
oﬂ
(®) 120° ®) 12 ®) 50% (B) 50%
4 (]
ke @z (C) 75% (C) 75%
o) 70° ew (©) 40% (©) 40%
106. 240 BRT &rT 5 oid} & g 35 ¥ 106. The. average marks obtaineq p, * 110. @ B T e T F{EI?I R 110. The product of smallest positive integer
3wl et @ o 39 @ it students s 35. I the average of pg TN Pl H T § and the greatest negative integer is :
BAl ol 15}, & it ent @ students is 39 and that of it (A) 1
e B students is 15, then the Numbe o e ®) 2
passed students will be : (B) 2
; : ©) -1 (€) - .
(A) 40 () 40 (D) 57 q Fg T (D) None of these
B 5
1200 (Br,200 . 111. R ™ ¥ B den 67y19, 9 A Ry 111. Given that the number 67y19 is
(C) 190 () 190 B E y B @ O R, y WO divisible by 9, where y is a single digi,
T Ay 7 what is the least possible value of y ?
(D) 150 ;‘D} 150
. (A) 3 (A) 3
107. % ¥ 3 899 § 1 2% W qww | 107. A number when divided by 899 gives a @) 9 ®) 9
62 5T BT @1 I A B 31 F W | . remainder 62, What remainder will be
¥ W A e wa @ 7 obtained by dividing the same number Wl Iy
by 317 : (D) 4 (D) 4
e (8) 29 (A) 62 (B) 29 12. T TR 99 R WeN R PEY | 112, Find the largest natural number by
(€ 2 AD) 0 © 2 (D) 0 A T W ke denst @ which the product of three consecutive
5 2J_ T Hed e A R even natural numbers is always
108. zfx 5+2V3 _ 5+23 divisible :
asb¥3, & a S b @ 108. i T 4J{—a+b\f_ then the value of
‘IFI? A) 16 (A) 16
aand bis: (A)
{:) a=-1,b=-§ (A) a=-11,p=_g (B) 24 (B) 24
(B) a=11,b=56 (B) a=11,p=¢ (©) 48 (C) 48
(C) a4=11,b=-8 (c} a=1 2
=1,b=—g 5 (D) 96
(D) a=6, b=11 ) D) 9
Du24 e J a=ﬁlb=11 - [33] 233 P.T.O.
) [32] DU24 33] &
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¥

13, m@ammmmm,
Rl 4,5 6 v 8 & W 31 @ 9w 3
T, T 9 A WM 2 W B qvew A
T ? '

-~ (A) 729
(B) 363
(C) 123

(D) 243

114, (16)%15x(16)°% x(2)°2 7 g 2 :
(a) 2
B) 1
(C) 16
(D) 4
115, 99 H W 20% F@A W @ A

AT WU 20% T FX AT B UG @
T @Y T a9 @ s ?

(A) 0.0%
ljﬂf 4.0%
(C) 6.0%
(D) % & FE &

116. 0.36,1.2, 4.8 % WgwH FIad & :
(A) 57.6
(B) 38.2
, (C) 14.4

(D) ¥ g T

ﬁ[:ﬂ]

[ CREE

4

113. What will be the least positive intege, -

which divided by 4, 5, 6 and 8 leaveg .
remainder 3, but when divided by 0

leaves no remainder ?
(A) 729
(B) 363
(c) 128

(D) 243

114, Value of (16)° x(16)°% x(2)025 .
(A) 2
®) 1
(©) 16
(0) 4

115. The price of tea being increased by
20%, a man.reduces his consumption

by 20%. By how much percent will his
expenses for tea be decreased ?

(A) 0.0%
(B) 4.0%
(C) 6.0%
(D) None of these

116. The L.C.M. of 0.36, 12,48is:
(A) 57.8
(B) 38.2
(C) 14.4
(D) None of these

i

117. ‘a"ﬁm@m@mz:aémm
ToHo 54 &, o Hemst # dm ¥

(A) 5 (B) 15
(C) 45 (D) 54

118. Bl T | 10%, 20% AR 25%
SERT G2 & a8 A P et B A
s ?

(A). 46% (B) 54%
(C) 45% (D) 55%

119. T A, C' ¥ 50% % % i B, C
25% U &, @ A, B ¥ R st
s & 7
(A) 25% (B) 50%

(C) 75% (D) 20%

120, W TR GO WA 18 ¥ o
T TR 162 81 IR & Hemelt @
i dEl gE $ W @, @ dn
Heratt & Ul I 4 8 ¢
(A) 136 (B) 116
(C) 126 (D) 324

121. © swEm o 174 o § 87 W
e & R 5 AR e e 3 W
o #1178 ol @ aw Iew ot
T i
(A) 36 (B) 39
(C) 51 (D) 84 %
DU24

[35]

17.

118.

119,

120.

121.

[A]

If the ratio of two numbers is 2 : 3 and
thelr LCM is 54, then the sum of the

_monumbars is:
(A) 5 (B) 15
(C) 45 (D) 54

Successive discount of 10%, 20% and
25% on the price of an article will
reduce the price by :

(A) 46% (B) 54%

(C) 45% (D) 55%

If A is 50% larger than C and B is 25%
larger than C, then by what percent A is
larger than B ?

(A) 25% (B) 50%

(C) 75% (D) 20%

The sum of three positive numbers is
18 and their product is 162. If the sum
of two numbers is equal to the third
number, then the sum of squares of all
the three numbers will be :

(A) 136 (B) 116

(C) 126 (D) 324

A batsman makes a score of 87 runs in
his 17th inning and thus increases his
average by 3. Find his average after
17th inning :

(A) 36 (B) 39
(C) 51 (D) 84

P.T.O.



{t@-’f"lu""' - AT T O R T P )

n
998)>-(997)%-45
122, (998)° (997 45 o o e : 122, Find the valueof £ -y 15 W WA A FW oM T 25000 B, A | 125, If the total income of the family Is
(%8)? ~(97)* - e X R T e e & 7 ¥ 25,000, then what amount is spent on
(A) 1995 (B) 195 i (A) 1995 (B) 185 education ?
(C) 100 () 10 (C) 100 D) 10 (A) ¥5,000 (A) 5,000
123, 4R A A TEFR TR | 123, Theareaof the largestcide thatcanby  (B) 35,650 ' (B) 5,650
T T 39 o A o drawn in a square of side 14cmwillbe: - (C) 6,250 (C) T 6,250
2 - .
(4) 15430 () 154 cm’ (D) 7,250 . (D) ¥7,250
2 2 \ o . o,
AR , ®) ‘96"": A 126, e & & @@ dom §@ 9 | 126, Which of the following number is the
©) 7¥’ (C) 77cm S g7 - greatest?
(D) 308 -(D) Lhes gl/2 glI3 4il4 gll6- 451/12 . 212 gii3 44 glS yp1/12
i : k . 1/2 1/2
P : (%0 Ho 124 W 125 3 R) : MARY | Direction : (For Q. No. 124 & 125) : Study the @) 2 ) () 2
T 9 9 o FHET BT o T IR & following pie-chart which shows the spending  ~ . (B) glia (8) 33
W WA 7 R 53 @ R @ & @ | of a family on various heads during a month, | 114 : i
_ | (©) 4 (© 4
T ¥ 39 9 9K 3 SR W 86 @ W On the basis of this pie chart answer the 5 :
giforg questions : (D) 6 : (D) 6"¢
127. 6% &9 & T 10 i F R A 127. The simple interest for 10 years at a
31208, QR F R ? ~ rate of interest of 6% is T 120, then
. principal is :
Sl S W R0 ' (A) X 100
€ ®) 125 - y (8) 2125
’ (C) T 150 () 150
I (D)R20w (D) ¥ 200
AR v, | 128, 61044212+ 169 % AR : 128. The value of {610+ Y212+ 4169 is:
24 W A FW AMH T T 25,000 124. If the total monthly income of the family - s
%@ o ol R woad @ is T 25,000, then what is the amount - )2 |
b spent on food and rent ? : e o (B). 20 (8) 20
(A) T12500  (B) T 15,250 (B) 1250  (B) T15250 . ©) 18 E (©) 18
W R IEE Ib) R7ee J (©)%16250 (D) X 17,250 o %a3 (B) 15
e -m: [36] i DU24 _ [37] P.T.O.



129, @& qim ¥ 25% B SeW & T &

130.

131.

132

DU24

3T 99 450 B1F wEF & &, ar e
Igmem AR g ?

(A) 750
(B) 700
(C) 600
(D) 550
ASRBG 59 & 12R9 ¥, B ol C
1577 3 01 C 3R A 20 R7 § g 3

K & AR A, B T C @ | FW
&, @A T B o BT A quoFa 7

(A) 60 A (B) 20 R

(C) 10 = (D) 5 R

L TR 25% F a9 W I AR By
IR o e g AT A R
@ @ s g

(A) 200%

(B) 150%

(C) 100%

(D) 50% _

i x+1=\/§ ?t, @ )¢'3+l CARIE |
X X

By

(A) -2 (B) 0

(€) 2 D) 3/3

29y

[38]

130.

131.

129. 25% of the students who appeared j,

an examination failed and only 45
students qualify the exam. The numbeg,
of students who appeared in the
examination was :

(A) 750
(B) 700
(C) 600
(D) 550
A and B can do a work in 12 days, B
and C in 15 days and C and A in 20

days. If A, B'and C work together, they
will complete the work in :

(A) 60 days (B) 20 days

(C) 10 days (D) 5 days

An article is sold at a profit of 25%. If its
selling price is doubled, the profit
percentage will be :

(A) 200%
(B) 150%
(C) 100%
(D) 50%

132, x+%=-./§. then the value of

X3 +-1§- will be ;

X
(A) -2 (8) 0
© 2 (D) 3/3

,,,,,

133.

134.

™
2’ 10'
B
(A) 1
4
{BJE

3
© 3

q
© 15

oy 3% =81 AR 81F Y =3 & W x

. [ HF e

(©) 1758

135.

Du24

(A) 42 (B) 15/8

(D) 39

AR A g A QT w o d

W) AR AB=BC=COR & E
ST 1 R T A

ANEEB \ D
«— 2T —

(A) 108 &
(B) 112
(C) 124 %k
() 1168

%

133.

134,

135.

 [39]

The average of

ﬁwﬂlba.

sl 3]

rolw
&l
;=

9
!El

(A) 1

(B)

njw  o]e

©)

s
Fy .

(D)
If 3¥*Y =81 and 81°"Y =3, then the
value of x willbe:
(A) 42 (B) 15/8

(©) 17/8 (D) 39

In the following given figure (not drawn
to scale) if AB = BC = CD, then find the

perimeter of the given figure :

A B c D
< 42cm >
(A) 108 cm
(B) 112cm
(C) 124cm
(D) 116cm
P.T.O.



137. R X_J§+J“ iy

136. 166 % A &I T & ¢

(A) LCXW
(B) CLVIVI
(C) vivi

(D) CLxXvi

J_‘FB

V5-43 V5443

@ x+y T IH T :
(A) 8

®) 16

(©) 2V15

©) [45++3)

138. 0F GO & =fdl $ S99 3:5

U F R @ oS 8 AR
i 1 e g A g 7 T 20 I
8, @ 9 g S AR :

(A) 160 (B) 80
(C) 40 (D) 20
139. I &K :

DU24

[6 - 6 x {(48) + (-3 x (14 - 12))} + 7]
(A) =30

(B) 48

(C) 35

(D) 36

&

136.

137.

138.

139.

(a0) 55

[A]

The Roman number formof 1661is:

(A) LCXVI
(B) CLVIVI
(©) NI
(D) CLXV!
J-. M then
If X=-J——'J—— and y= 5+ -JE

the value of x + ywillbe:
(A) 8

(B) 16

©) 2V15

(D) (2v5++3)

A sum of money is divided between two
persons in the ratio 3 : 5. If the share of
one person is ¥ 20 less than that of the
other, find the sum :

(A) 160 (B) 80
(C) 40 (D) 20
Simplify :

[6-6 x {(~48) + (-3 (14 - 12))} +7]
(A) =30 |
(B) 48

() -35

(D) 36"

N

140.

141,

142.

' 143,

DU24

@

@ I9 & FA% qEX g4 B 4 &
%44w%|mqﬁm&tﬂmamaw
?

(A) 12:1
(B) 1:12
(C) 144:1
(D) 1:144
¥ T 2/5 AT A ¥ AR W &S
160 WX T T AR B, A THH 67

;T%wtm%mmh?am(ﬁﬂ

(A) 280
(B) 320
(C) 350
(D) 420

15 A @6 M A 8 BF # F wm

% 12 ol o@ 9 @ fBRe R #
F T 7

(A) 12 (B) 10

(WK (D) 6

T R AT G H /4 W 20%
O T S g8 aege # ara g
W49 3R, @ WA T I e
swam:

(A) 13

(B) 14

©) 15

(D) 20 @

(a]

140. The area of a circle is 144 times the
area of another circle. What is the ratio
of their circumferences 7

(A) 12:1
(B) 1:12
(C) 144:1
(D) 1:144
141. 2/5 part of a tank is filled. If 160 litres
more water is added to the tank, it

becomes 6/7 full. The capacity of the
tank (in litres) is

(A) 280
(B) 320
(C) 350
(D) 420

142. 15 men can do a work in 8 days. In
" how many days can 12 men do the

same work ?
(A) 12 (8) 10
© 9 (D) 6

143. A dealer sells 3/4 part of his articles at
a gain of 20% and remaining at cost
price, then his percentage profit in
whole transaction will be :

(A) 13
(B) 14
() 15
(D) 20

[41 1 P.T.0.



; ‘ th
144, IR 2% =64 IR (9)Y =-243 B, A 144, 1f 2% =64 and (-3 = -243; then the 147. ¥ 6250 W 12% Mfead @ & § @& af 147. The compoynd interest on ¥ 6250 at
X+y & A A : © value of x+ywilbe: % Rie srfafis w0 & @dfm @R 12% per annum for one year
I P compounded half yearly is :
(A) 11 A) 11 3
) A) T 7725 () T 7725
| 6 B) 6 B) % 772 ®) 2 772
(C) 8 (©) 8. (C) T 6725 (C) ¥ 6725
©) 5 e (D) T 672 (D) 672
148. IR O FhE demsi & e 210 148. If the product of three consecutive
145. TEH H A Y INS Rew A g B 145. Present age of Rahul is 3 years more 2 @ 2 O et @A A ? numbers is 210, then the sum of two
oM ¥ 39 o ¥ um A than half the age of his father. Five smaller numbers is *
g 9 f & 21 af g o e years ago, Rahul was 21 years younger () 8 (A) 8
H T G s A : than his father. Find the present age of (B) 5 (B) 5
' Rahul ;- (C) 9 © 9
D
(A) 21 4 (A) 21 years - . 1! o u
®) 27 7 (B) 27 years 149, @ T 9% i ot 7t Hew 149. The greatest four-digit perfect square
; ; number is :
(C) 22 EL (C) 22 years (A) 9000 (A) 9000
(D) 25 o (D) 25 years (B) 9801 (B) 9801
- C) 9
146. UF HEA1 AW G 253 9 B 99 H 146. The difference between a number and (C) 9300 (C) 9900
- IR 510 %1 T9 WO H 10% 7 ¥ ? its 2/5th is 510. What Is 10% of that (D) 9999 (D) 9999
2
number 150. 25,000 @t # & d&w@ 60% T q 150. Out of 25,000 people only 60% have
(A) 340 (A) 340 FW & AR 32% @ &F &, 30% A the saving habit. If 32% save with
: T & T A9 A W F T F@ bank, 30% with post-office and the
(B) 85 ﬁ (B) 85 EA ARG B "e ¢ rest with shares, the number of
(C) 204 (C) 204 shareholders are :
(A) 4500 (B) 5700 (A) 4500 (B) 5700
(D) ¥ & #§ 7 (D) None of these :
(C) 9500 (D) 10000 (C) 9500 (D) 10000
DU24 142] DU24 [43] P.T.0.
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151, N3W WEES OGN @ HE A 8§
(A) TR M TR
(B) HiwATT Mty TR
(C) Wi Rt ot
(D) IR wdt

152. @E B Res @ afew ew @
m_%,mm:
(A) T BB A SRy STyE Fe B

B ® w Wi B W dE 7
- ReieT @ @Ra v & giakfa ok

Yefaiad R o e B

() T Rl R oaf & Tt &

gl # F F E HT Bl
(DY ST ot
153, “RET @ 7% ST 9 9% 9= @

&0 Re| 3 WIF dEE BE S
N AET Fl & Fear & ¢

(A) wARe Rrer someh
(B) TR Rrem somelt
(oY fard R s
(D) AR Rrem some

154, s 3 paer § wad wewyel am &

(A) =
(B) ST
(©) waggR
(D) ¥

ﬁwuy

Iy

(A) Hardware Educational Technology

151, Audio-visual aids are also called ;

(B) Software Educational Technology
(C) Soft Skill Technology
(D) Allof the above

152. Blackboard is said to be the right hap, "
of the teacher, because :

{A) It arouses the interest of thg
students. ;

(B) It can. permit quick change angd
- rearrangement of the writing ang
drawing displayed on it.

(C) It helps teachers and students to
reduce spelling mistakes.

(D) All of the above

153. "The system of education that calls for
providing equal opportunity to every
 child for optimal development® is called :

(A) Integrated Education System
(B) Inclusive Education System
(C) Compulsory Education System
(D) Elementg:y Education System

154. The most important thing in the
behaviour of a teacher is :

(A) dominance
(B) discipline
(C) sympathy
(D) patience

155. Frefofea & & d-a F2 ‘a@W
P frdear 7R ?

(A) T8 AT R e
(B) T& frm e @ A Fed 8

{G}Mgﬂﬂfﬁﬁﬂﬁmﬁl

(0) 57 & A 7

156. PR # ¥ -8 g T & SAfs
- 3 o R B R ]

() Fre-Rrerdt & 7y AT W
&I

(i) = o) Y@ R T
(i) R srRett @ s e

(iv) T o wedhmers i 3G R

HEF ST

() () (i (i) (iv)
(8) (i) (i) i
(©) () i (iv)
(D) (i) (i) (iv)

157. 278 Ry o &

(A) T FER A FRER B A
fern ;

(B) Tifdd ZFER w@IRE FA 3 Rl
(C) &= Ry & fall
(D) S # & B TE;

DU24 .

155. Which of the following statement is not
a characteristic of 'Discovery Leamning' ?
(A) Itis also called expository teaching.
(B) It is also called discovery without

direction.
(C) Teacher  does not give
reinforcement.

(D) None of these

156. Which of the following are the key
elements that enable effective
pedagogy in classroom ?

() Building a positive relationship
between teacher and student.
(i) Ensuring respect and care.

(i) Using differentiated instructions.

(iv) Providing opportunities for
independent and collaborative
work.

(A) (i) i) (iiy (iv)
(B) (i) i) (iid)
(©) () (i) (iv)
(D) (i iii) (iv)
157. Punishment is gi;uen :

(A) To stop the repetition of wrong
behaviour. '

(B) To establish desired behaviour.

(C) To teach a lesson.

.1 (D) None of the above

[45] ‘P.T.O.
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158. W@mﬁﬂwt:

{WMMWWM%

R g & = B B

(B) Te9IF 3w WA B B
(C) Frisr wieT it Ay 78 ¥
(0) ¥ A B T

159, O JEI% & &9 ¥ S Raffr
DA P R 7

() 3¢ OISl @ IE FH O -

HeRa & _

(i) T P AT T 3 FIH@ D AR
Hage g

(i) 7 Renfddl & aR-aR 9 ge §
A &, A AR-A WA B 6

) Ramg @ RARG B awRe

g & sem
(a) (i) 3R (i)
(C) (i) &R (iv)

(BY (i) ST (iv)
(D) (i) S i)

160, e & P & B A W @

TET ARy ?
() Remw 3 R R
(i) I W WEAGEH
(iii) Rreror Ry
(iv) BFE & THYF '
(v) BR @ TRl @ aht
(A) (iii), (iv), (v)
@ (), (), (i, (), )
(C) (i), (i), (iv), (v)
(D) (ii), (iv), (v)

w24

[46]

i &

158. Main characteristic of evaluation is :

(A) The evaluation process acts as a
reinforcement for both teacher and

student.
(B) Evaluation is only quantitative. )

(C) Observation is not a  method of
evaluation.

(D) None of these

What is your role as a teacher in the
construction of knowledge of students ?

(i) To help them in memorising the

159.

concepts.

(i) To be sensitive towards
experiences of each child.

(ii) Refusing to ask questions

repeatedly - to students who ask
_gquestions repeatedly.
3 (iv) Relafing school activities to real
life.
(A) (i) and (ii)
(C) (iii) and (iv)

(B}_ (ii) and (iv)
(D) (i) and (i)

What things should be kept in mind
while preparing homework ?

(i) Specific objectives of teaching

(ii) Syllabus and textbooks

(iii) Teaching method

(iv) Mental level of students

(v) Interests and attitudes of students
(A) (i), (iv), (v)

(B) (1), (i, (i), (iv), (v)

(C) (i), (ii), (iv), (v)

(D) (i), {iv), (v)

L1t

Frefofe & & -t fefameiier

% Rt ¥ ?

(i) M, TR ;

(i) s, ga Rer

(iity wfs By ¥ SreE o weh

(iv) STeBT SrgefaTR

(A) (i) (i (iif) (iv)

" (8) (i) i) (iv)

(C) (i) (iv)

(D) (i) (iv)

e % argge zr&r ATE 8,0 _

W) % Rea 3. @ dae A
T & B -

(B) & T Ry % Frdar 3 T B
(C) ¥ Rm &1 oty Rmr & Ao

161.

162.

&

D) S i

Pt ¥ 3 dw-a R T
R @ onefe R @ ot e
T B AR § F R ?

163.

(&) Redl T A s A @ |

e
(8) Remdt & s @ Remi @
< TR AR

@mq‘»fmmmam
N WD AN

(D) wwe omaRa afrm § W ded |

F T B S

Du24

AT B g9 F wEE B

[47]

e In

161. Which of the following are the

characteristics of a reflective teacher ?

(i) Intelligence, smartness

(i) Accountability, open-mindedness

(iii) Socially aware and cooperative

(iv) Good researcher

(A) (i) (i) Gi) (iv)

(B) (i) (i) (iv)

(C) (ii) (iv)

(D) (i) (iv)

Why is syllabus necessary in schbol ?

(A) It helps in proper functioning of the
school.

(B) It makes the classroom education
under control.

(C) It .helps the teacher to plan his
teaching in an organized manner.

(D) All of the above

162.

Which of the following option
represents the major shift in teaching
learning from traditional to modern ?

163.

(A) From learner centric to teacher
centric.

(B) Learner participation to learner
receptivity.

s (C) Teacher directions and decisions

to learner's autonomy.

(D) Understanding based learning 1o
rote method of learning.

P.T.0.



164.

165.

166.

167.

.DU24

l
lel

e e & wrgt R ¥

() IR F Fafw

(i) g & wm

(iii) SRS W

(v) & "3

(A) (). (i), (i) (B) (i, (i), (iv)
(©) (), (i), (iv) (D) SRFT T

e & & B-m R &1 Rier
T

(A) SRERT F Rear

(B) Tl & R

(C) s = Rrar

(D) G SR FArte a1 Rrar

freffed ¥ & F-w o R
e T E ? ° '
(A) ST T A1 AR FHA_
(B) =AM 3

(C) Fiéw 3

(D) SwrF wft

frfefes & ¥ d=-3 o9 ded

T § gTE ! -

() e e ¥ R Y

(ii) ;ﬁwaawwmmmm
I

(i) 9% T e B

(iv) dreq # oRugaa, 9eM, dFr @
e 3 PR FER ¥ AN aW
o aftafea w18 &

(&) ), i (i), ()
®) (0. (). (v
(©) (. G, (i)
(D) i (i

[48]

164,

165.

166.

4]

Some important modes of non-verba)
communication are :

() Facial expression

(i) Language of the eyes -

(i) Body language

(iv) Sound symbols

(A) (), (i), i) (B) (i, (i), (v)
(C) (), Giii), (iv) (D) All of the above

Which of the following is not a principle
of teaching ?

(A) Principle of motivation

(B) Principle of activity

(C) Principle of rejection

(D) Principle of creation and recreation

Which of the following is not a direct
teacher behaviour ?

* (A) Praising or encouraging

167.

(B) Giving lecture
(C) Giving direction
(D) All of the above

Which of the following statements are

true for learning ?

() Leamning is change in behaviour.

(i) Learning is purposeful and goal-
oriented.

(iii) Every creature learns.

(iv) Learning does not include the
changes in behaviour on account of
maturation, fatigue, iliness or drugs.

(A) (0, (i), (i), (iv)
B) (i), (i), (iv)
(©) @), (i), i)

D) ), (i)

168.

169,

170.

Du24

P & ¥ A w97 T
IO Rl 7 ?

(A) TEt R, cl ol wElA &

Wl ag et st B

B) 7 R wRE B IS
e ol JaE T 8
(C) 75 e R W Y A ¥

(0) T ¥ 3 @

T S, REV weEE e #

Fret s & g e @

(A) 731 wees ot AR 39 Wem
are

(B) 53w wEH W IR WRR

HerEE wrell

(9]‘31?-1 WS Hﬂﬁ,‘w TS
o, s3I geEs el o
TRy W wmh

(D) ey e amEh

deRem # osfem 3w & R
[ F FER A W W A
T B o B e & e R
T E ?

(A) e et
(B) e Feait
(C) T i
©) 5 & 3 7

£vin
L2

(]

168. Which of the following statements Is

169.

170.

[49] Z

not a characteristic feature of multi-
sensory approach ?

(A) It involves multi-sense in terms of
methods,
materials.

techniques and

(B) It makes the teaching-leaming
process more lively and interesting.

(C) It is not applicable to distance
learning.
(D) None of the above

The traditional approach classifies
teaching aids into the following :

(A) Audio aids and visual aids.
(B) Audio-visual aids and activity aids.

(C) Audio aids, visual aids, audio-visual
aids and activity aids.

(D) Activity aids.

Which type of evaluation is done in the
beginning of teaching-learning process
to find out the specific weakness and
strength of an individual ?

(A) Diagnostic evaluation
(B) Summative evaluation
(C) Formative evaluation

(D) None of these

P.T.0.
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171, WY & & Fa W T K
w9 ‘e wWy ‘a

(8) W §Ed (i) Frenfe
ST

®) TE  FEq (i) Redegha
TR

€ Rt dEd (i) Rl

(a) (®) (©)

A -0 (i (il
- (il (ii) M
(© (i) @ (ii)
(D) (ii) (0] (i)

172. fmfddt & wmr wow ok affe o@
# guast @ oolmEw W ghREd |
T <7 T R 7

(i) it wfei &ra

(i) B-T8 ET

(ii) ==t @

(iv) Reidt # arem 3R
(A () (i) i) (iv)

(8) () (i) ()

(C) (i) (i) (iv)

(D) (i) (i (i

Rias

i [50]

171.

172.
: languaga: communication and logicy |-

(i) By questioning

n'A with Column 'g:

Match COU™
column A’ Cohumn

o) Readd (i)  Dysgraphia
disabillty

(b) mathematical () Dyscaleuiia
disability

© Writing (ili) Dyslexia
disability

oSl S (o

D (i) (i

(B) (iii) (i) (i)
(©) (i) (i) (ii)
o (@ (U] (i)

'How the acquisition of capacities '

reasoning can be ensured in students 7

(i) By more partidi_paiion

(i) By discussing

(iv) By giving A e ilonts
() () () i) (W)

® ()

© O )

(0) (i) (i tiii}

2z
r"E"j

173. ‘@R # e @ Rig P 3
/A I-T T g ?
(A) TEH TR A B
(B) 75 =it @ wify A Forrd A &
R ) wergan FH 8

(C) T wafy AT @l

}D)ﬁaﬁﬁaﬁ%mﬁﬁm

FA & wewar w8l

174. % Qe o @ 3Ed S §C F

e Prew o B e 8 T B

YR F R aerK e em-?
(A) A r fwka '

(B) ST HE e SR R
(C) w3

(D) &7 { g T

175. Fiifea & § #F-@ w9 v
R & g & wé 7 e ?

(A) STEIRTE e wnfes a2
(B) S9N R =fRem @ 21

(C) 7% B # W AL TTH

i
(D) & g 7

2

Du24

[51]

[a]

173. Which of the following statement Is

correct for ‘assessment of learning’ 7
(A) Itis formative in nature,

(B) It helps a teacher to monitor the

progress of students,
(C) Itis summative in nature.
(D) It helps students to monitor their

own performances.

174. A teacher punishes a child by telling
him to get out of the class. What type of
teacher behaviour will it be called ?

(A) Silence or confusion
(B) Criticising and justifying authority
(C) Directing
(D) None of these

175. Which of the following statements Is
not true in terms of remedial teaching ?

(A) Remedial teaching is conducted in

a group.

(B) Remedial teaching is conducted
individually.

(C) Learning difficuity of each student

is different.
(D) None of these

P.T.0.
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176. PR & &} &-w w97 R
TN P g d gfR?

(A) Rer ot & ames ol R
wiky & s

(8) Rmvr a5l § wRe® Siwdl @
i & ard &

(C) R ot ¥ e @ &
i & o

(0) Rt ot & sreTs, wAeE A

s vt & Wit & o ¥

177. s R k2020 -9 i &

I B ¢ ?
(A) 10+2

(B) 5+2+4+4
(C)5+3+3+4
(D) 5+4+3+3

78 B ¥ G R A ks it

S TR R P smR A

Tiiga & o ¥ -

@) P Mg B AR
(i) & o go ToFf
(iil) AT @ T TR
(iv) wmer Fe weiger oy

(A G

(B) (i) 3 (v)

(C) (i), (i) 3 (iv)
(D) (i), (ii), (iii) T (iv)

176.

177.

178.

BE (o1

Which of the following statements g

with regard to teaching technology 2

(A) Cognitive objectives are achjgy,, g
in teaching technology.

(B) Atfective objectives are achieveq iy,
teaching technology.

(C) Psychomotor objectives are achieveq
in teaching technology.

(D) Cognitive, affective and psychomotor
objectives are achieved in teaching |

technology.

Which new structure is recommended
in the National Education Policy-2020 ?

(A) 10+2

(B) 5+2+4+4
(C) 5+3+3+4

(D) 5+4+3+3

The verbal aﬁd non-verbal communication |
strategies carried out in the classroom '
are classified as : | {
() Speakingand listening strategy |
(ii) Writing aﬁd reading strategy

(i)} Oral and.written strategy

(iv) Communication strategy . involving
no language

(A) (i) and (ii)
(B) (i) and (iv)
(C) (i, (i) and {iv)

180.

(D) (i), (i), (iii) and (iv)

b

{79. TARE # ¥ R e @ R

ftem areht @ # wews @ ?

(A) a9 399 GrEl
(B) Faw et el
(C) Faw v areElt

(D) wgHad arE -

ferrept 1, Renffat # qg=n =l
(A) ¥ TE°mEwT & w9 -

(B) TR at e & =g #

(©) de ¥ gy wrieR & w9 &

(D) Rrers 3 U% a7d Fgard 3 &9 -

181, il F7 @ ?

_(A) 38 ad o aedl, del
aarg | 3, o RenffEat $ orgwdr

B AFR Y -
(B) g9 arwed faw@ ¥ wee SR
fawat & &1 :

(C) 7w ured Rmwr s weER @

B

b _ (D) 5o and e ¥ o o At

qEd Y& T qreEEE A R

182. REv-afem RiRET B svavEERT ®
o (A) R @ R smEwEEet @

FIER Ao 7 B R

(B) faiidt & daw HATew
FEEEIA & SR Ao F

& fm

(C) Raffal #t Faw s smavaHASH

¢ 3 FgER Ao N @ R

(D) faff@i @ @@\
S B AER Ao &

% R
Du24
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— QRSO RRY SULI T T RURTIELYS RS RS FIHE U

nias

[a]

179. ‘What type of teaching learning material

180.

will support learning in an inclusive
class ?

(A) Only visual material

(B) Only tactile material

(C) Only auditory material

(D) Multisensory material

Teachers should view leamers as :
(A) Recipients of knowledge

(B) Rote learners

(C) Active participants in learning
(D) A good followers of teachers

181. Whatis a curriculum ?

(A) It refers to overall goals, plans and
practices that shape the
experiences of students.

(B) It refers to the subjects being
taught in the school.

(C) It refers to the teaching learning
material.

(D) It refers to the text books and
syllabus being taught in the school.

182. Teaching-leaming stratigies need to be :

(A) Planned according to the diverse
needs of students.

(B) Planned according to the emotional
needs only.

(C) Planned according .to the
educational needs only.

, (D) Planned according to the social
W needs only.
P.T.O.
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163, Pratibha 15

r teachel
:’e (o give the answer. She fog

xioUS when she talks but $h
a dorms well in written test. Hoy Wil
ssess Pratibha &s a teacher 7

a student of Class 5, Whe :

youa

(A) Because ‘she did not givg any

answer, she should not be gjye, |

any marks.
(B) Should complain to her parents.
(C) She should be scolded for py
answering.

(D) She should be encouraged to gjy,
the answers in written.

184. Riyat wants to test the G.K. of her clagg

n
jakes an oral test ko |

_students. What type of questions will bg |

objective and less time taking ?
(A) MCQ's

(B) Project bas.ed questions

(C) Assignment based questions

'(D} Essay type questions

185.- Which of the following statement Is
correct in the context of constructivist
classroom 7
(A) Teacher Is the manager and

organizer of the class.
(B) Teacher is the controller of the
class.
(C) Students are constructor of their
i knowledge and teacher is @&
facllitator,

(D) & R afzw ghedr 2
[54]

(D) Itls teacher centric approach,

186.

187.

188.
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(D) HiEpl ST
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[a]

186. Dinesh is a student of class 6. His
teacher gave him an assignment. While
doing his essignment he recalled his
earlier experiences and found thal he
has not included some things. On the

basis of his experience he lurthar does
self-study and improve his assignment
and submit to his teacher. This typa of
assessment is :

(A) Assessment as learning
(B) Assessment of learning
(C) Assessment for leaming

(D) Summative assessmsnt

187. What are the three levels ¢f teaching 7

(A) Memory Level, Observation Leve!
Understanding Level.

(B) Memory Level, Understanding Leve:
Reflective Level.

(C) Memory Level, Interactve Lewsi
Reflective Level.

(D) None of these

188. Which of the foiicmng 15 not a prezd
aim of educaticn 7
(A) Develcp thougnt ana aviomamy
(B) Health and weliberg

(C) Preparing TLM

(D) Cultural participaten

[55]

P.T.C.
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(i) Pt &t A

(i) ST T
(i) FEME B I
(iv) FBR S qome
(A) (i) (ii) (iv)

(C) () (i) (iii) (iv)

(D) (i) (i) (iv)

TR R & wew B @ R

189. Activity and plé:

180.

191.

0

y based methods :

(A) Provide 8 variety of experiences y .
the little children and facilitate thgj,
acquisition of knowledge, skills any
attitudes.

(B) Establish stimulating environmep,

for creative experience.
(C) Develop seli-confidence  gnq
understanding through work and play,

(D) Allof the above

What would you say, as a teacher, to
the students if they come late to schog
on a rainy day ?

(A) You would not say anything.

(B) You would find out the reason of
being late. :

(C) You would punish them for being
late.

(D) You would make them take an oath
not to come late in future.

For the successful implementation of
inclusive education which of the
following factors are important ?

(i) Preparedness of teachers
(ii) Infrastructure

(i) Availability of resources
(iv) Strict evaluation system
(A) () (i) (iv)

(B) (i (i) (i)

(C) (i) i) (i) iv)

(D) (ii) (i) (iv)

AviN
o B
: e e

192.

193.

Du24

194.

riAs

HE HETIHS F e R
() i smavaER

(i) G B ST

(ii) ¥E R T A A
(iv) T @ STETEH

(v) FETfeBT B SR

(A) (i), (i), (i), (iv), (v)

®) (i, i), 0, (W), ()

(C) (), (i), (iii), (v), (V)

9 (i), (i), (i), (v), (v)

Roflosaodio T, 2016 B AFAX

R s At R ¥ ?
(A) 20
(B) 21
€7

(D) 6

To %o S0 2020 REffdl & R e
TR & ST #E B AgE H g ?

- (A) 360° T e e

(B) 180° g9 Wiy &8

~(f s60° e sy

(D) 180° g&% Wiy e

Hine

[57]

192,

193.

194,

Correct order of human needs is :
() Physical needs

(i) Safety needs

(iii) Needs of belongingness

(iv) Esteem needs

(v) Needs of self-actualization
(A) (i), @), (i), (), (v)

(8) (i), (i), (1), (), (v)

(C) (i), i), (iii), (iv), (v)

(D) (iii), (i), (i), (iv), (v)
According to RPWD Act, 2016 how
many disabilities are there ?

(A) 20

(B) 21

C) 7

(D) 6

NEP-2020 recommends which type of

progress card for students ?

(A) 360° Holistic progress card
(B) 180° Holistic progress card
(C) 360° Happy progress card
(D) 180° Happy progress card

P.T.O.
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196.

o

195. The capacities an
be inculcated in students are :

d values that shoulg

(i) Scientific temperament

(ii) Critical thinking

(iif) ﬁote memory

(iv) Creativity

(A) () (i) (V)

(B) (i) (i) (i)

(C) (i) (i) (v)

(D) () (i) (iv)

Which of the following teaching
technique give an opportunity to relate

the thoughts and concepts presented in
the class with the real world ?

(A) Classroom discussion
(B) Lecture
(C) Guided study

(D) Field trips

197. Objective of research in education is :

%{A} To propound new principles.
(B) To discover new facts.
(C) To experiment something new.

(D) All of the above

198.

199.
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AA) (1) (ii) (iii)

(C) (i) (i)

(B) (i) (iii)
(D) (i) (iii)
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198.

199.

200.

;[59]

[A]

Sandeep is a newly appointed teacher
in a government school. After teaching
each chapter in the class what should
he do ?

(A) Proceed to teach the next topic.

(B) First ensure that all the students
have understood the chapter.

(C) Take a test at the end of the entire
course.

(D) Ask questions from one or two
students and then start a new
chapter,

Siddha, a teacher of class B8 was
teaching English in her class. She
observed that most of the students of
her class were not taking interest in
studies. She reflected and realized that
the causes of disinterest among
students is use of lecture method. What
she should do in order to make her
teaching effective ?

(i) Change her teaching style.
(i) Use multi-dimensional approach.

(iii) Students should be asked to read
one by one and give feedback.

(A) (i) (i) (iii)
(©) (i) Gi)

(B) (i (iil)
(D) (i) (iii)

According to NCFSE-2023 the meaning
of 'Panch Kosh' is :

(A) Five mental abilities

(B) Five spiritual abilities

(C) Five fold development

(D) Five paths of life

P.T.O.



